Calcul mental

Multiplier par 2,5 ; 25 ; 250

1. Effectue comme dans l'exemple

36 x 25 =  (36 : 4) x 100 = 9 x 100 = 900

40 x 2,5 =
6,4 x 25 =

58 x 2,5 =
72 x 0,25 =

1,2 x 250 = 
36 x 250 = 

16 x 250 =
92 x 0,25 =

86 x 25 =
28 x 250 =

68 x 25 =
8,8 x 25 =

2. Ecris directement la réponse

84 x 2,5 =
25 x 250 =

36 x 25 =
2,8 x 25 =

6,2 x 250 =
52 x 2,5 =

24 x 0,25 =
8,8 x 250 =

0,16 x 250 =
66 x 25 =

3. Retrouve le multiplicateur

2,2 x             = 55
6,2 x            = 155

36 x              = 9000
84 x             = 21000

0,2 x             = 5
78 x             = 1950

82 x              = 2050
66 x 
   = 16,5

90 x              = 22,5
1,8 x            = 450 


